Chapter 21 Exercise 21.1

Q1. ()4 (i) 1
Q.2 ()3 (i) 9
Q.3. ()1 (i) 40
Q4. ()5 (i) x
Q.5 ()3 (i) 6a
Q.6. (i) 4 (i) 36y2
Q7. ()2 (i) —4x
Q.8. (i) 1 (ii) 4

Exercise 21.2

Q. 1.
Q.2.
Q.3.
Q. 4.
Q.5.
Q.6.
Q.7.
Q.8.
Q.9.

Q. 10.
Q. 11.
Q. 12.
Q. 13.
Q. 14.

2(3x + 5y)
3(3a + 2b)
5(5a + 7b)
73p + 4q)
3(4x — 5y)
202m + 3n)
x(2 +y)

ala + b)
3pdp — 1)
3a(3b — 5¢)
3(2x + 3y)
2(2a + 5b)
72p + 3q)

5(3a + 5b)

Exercise 21.3

Q. 1. px+y +qgk+y)
=p+qgkt+y
Q.2. m(a+ b) + nla + b)

=(m + n)a + b)

(iii)
(iii)
(iii)
(iii)
(iii)
(iii)
(iii)
(iii)

Q. 15.
Q. 16.
Q.17.
Q. 18.
Q. 19.
Q. 20.
Q. 21.
Q. 22.
Q. 23.
Q. 24.
Q. 25.
Q. 26.
Q.27.
Q. 28.

X (iv) x?
27x (iv) 3x?
4x (iv) 10xy
1 (iv) =2y
10 (iv) —2ba
=1 (iv) x>
= (iv) y
2x (iv) —x%y
3(4k — 5m)

11(2c — 3d)

5x(3x — 5)

2(2x — 3)

7y — 1)

5(d — 7e)

6p(p — 2q)

11x(2x — 3y)

8x(3y — 22)

5b(7b — 5a)
a@—1)

25a(b — 3¢)

x(y — 2)

2x(x — 3)

3(@ + b) + k@ + b)
= (3 + k)@ + b)

w(x +y) + 5Kx +y)
=W+ 5Kx+y
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Q. 29.
Q. 30.
Q. 31.
Q. 32.
Q. 33.
Q. 34.
Q. 35.
Q. 36.
Q.37.
Q. 38.
Q. 39.
Q. 40.
Q. 41.
Q. 42.

Q.5.

Q.6.

10x?
6x3
6x3

_ 92
— 832
3x
5x3

4yt

4x3
2y
S5y
oXy

12b?
4xy
4xy

4x%y

3p(2 — 3q)

X2(x — 1)

2x(3x + 4y)
8y(2x — 3y)
5a(8a — 1)

9t(2 + 3t)

25xy(3 + 4y)
22a(2a — 3)

4(6x — 7y + 112)
5(7a — 9b — 3¢)
3ab(4a? + 5b)
8ax(2ax — 3x2 — 4a?)
xX3x — 1)

x2(2 — X)

cla+ 3) + b+ 3)
= (c + b)a + 3)
px +y) + 6k +y)
=P+ 6)x +ty)



Q. 12.

Q. 13.
Q. 14.
Q. 15.
Q. 16.

Q.17.

Q. 18.
Q. 19.
Q. 20.

Q. 21.
Q. 22.
Q. 23.
Q. 24.
Q. 25.

Q. 26.

Q. 27.

2] Aclive Maths 1 - Strands 1-5 - Ch 21 Solutions

ak +y) + 7k +y)
=@+ 7)x+y

cla+b)+ 3@+ b)
=(c+ 3)a-+b)

k(@ + b) + 4(a + b)
= (k + 4)a + b)

x(T+y) +501+y)

=X+ 5)(1 +y)

px —y) +qk —y)
=p+qk-—y

alb —x) + ylb —x)
=@+yb-x

mr—s)+nr—s)=m+ n)r—:s)
alx — 2y) + blx — 2y) = (@ + b)(x — 2y)
2a(c — d) + b(c — d) = 2a + b)lc — d)

3y(2x — a) + 5b(2x — a)
= (3y + 5b)(2x — a)

3x(5a — 2b) + y(5a — 2b)
= (3x + y)(5a — 2b)

3m2x —y) + n(2x —y) = 3Bm + n)2x —y)
pg — 3y) + 2x(@ — 3y) = (p + 2x)(q@ — 3y)

10x(5b —y) + 6a(5b —y)

= (10x + 6a)(5b — )

a@+ 3)+ bl@a+ 3)=(+ b)a+ 3)
XX =w) + 9Kk —w) = x + 9K —w)
51 +b) +a(l +b) =5 +a)l +b)
yox — 1) + 8(x — 1) = (y + 8)(x — 1)

X(2x = 3y) + a(2x — 3y)

= (x + a)(2x — 3y)

2(5a — 4b) + a(5a — 4b)
= (2 + a)(5a — 4b)

4p(5p — 4q) + 3(5p — 4q)
= (4p + 3)(5p — 4q)

Q. 28.

Q. 29.

Q. 30.

3x(3x — 2y) + 7z(3x — 2y)
= (3x + 72)(3x — 2y)

7(@ — 3b) + ala — 3b) = (7 + a)(a — 3b)

xx — 1)+ 4k(x — 1) = (x + 4k)(x — 1)

Exercise 21.4

Q. 1.
Q.2.
Q. 3.
Q. 4.
Q. 5.
Q. 6.
Q.7.
Q. s.
Q. 9.
Q. 10.
Q. 11.

Q. 12.

Q.13.

Q. 14.

Q. 15.

Q. 16.

Q.17.

Q. 18.

—5a + 10b = —5(a — 2b)
—6x — 8y = —2(3x + 4y)
—15t + 21s = =3(5t — 7s)
—24a - 28b = —4(6a + 7b)
“2x—x2 = =x(2 +x)

—6x + 14z = -2(3x — 72)
—2x + 3y = -1(2x - 3y)
—15p + 9r—12s = -3(5p — 3r + 4s)
Xy —xz = x(y + 2)

X2 4+ x==x(x-1)

ak —y) —clx —y)
=@-o0k—y

3x +y) —alkx +y)
=3 —ak+y)

7x —y) — kix —y)
=7 -kx-y)
atk +t) — 5k + ¢t
=(@—-5k+1

xx —4) —akx — 4)

=x—a)x—4)

plg +s) —9@q + )
={p—-9(q+s)
alb —c) — bbb —¢)
=(a—-b)b -0
ak — bk + at — bt
kia — b) + tl@a — b)
(k + t)a — b)



Q. 19.

Q. 20.

Q. 21.

Q. 22.

Q. 23.

Q. 24.

Q. 25.

Q. 26.

Q. 27.

3alx — 2y) — x(x — 2y)
= (3a — x)(x — 2y)

5y(3x — 4y) — 3(3x — 4y)
= (5y — 3)(3x — 4y)

ak + at + bt + bk

=ak +t)+ bk + 1)
=@+ bk+1

2ac + 2ad + bc + bd
= 2a(c + d) + b(c + d)
= (2a + b)(c + d)

3ax + 3bx —ay — by
= 3x(a + b) — y(@ + b)
= (3x —y)@ + b)

5ac + bc — 10a — 2b
= c(5a + b) — 2(5a + b)
=(c — 2)(5a + b)

10ac — 5bc — 2a + b
= 5c(2a — b) — (2a — b)
= (5¢c — 1)(2a — b)
ab+3a+3+b
=ab+3)+ 1b + 3)
=(a+ 1)b + 3)

15ac + 10bc + 3ad + 2bd

= 5c(3a + 2b) + d(3a + 2b)

= (5¢ + d)(3a + 2b)

Q. 28.

Q. 29.

Q. 30.

Q. 31.

Q. 32.

Q. 33.
Q. 34.

Q. 35.

Q. 36.
Q.37.
Q. 38.
Q. 39.

Xy —x + 21y — 7
=x@By =1+ 7@y — 1)
=KX+ 7)QCy —1)

35ab — 10a — 21b + 6
=5a(Zb — 2) — 3(7b — 2)
= 5a — 3)7b —2)

22wx = 2wy — 11xz + yz
=2w(11x —y) — z(11x = y)
= Q2w — 2)(11x —y)

2a(5x —y) — b(5x —y) = (2a — b)(5x — y)

ab + bm + an + mn

=hbl@a+m)+n@+m)= (b + n)a+ m)
b@—1) —@—-1T=0b-Ta-1)

7X2 = 7x +xy —y
=7xx =1) +yk = 1) = 7x + y)x —1)

a2 — 3ab + 7a — 21b
=a(a — 3b) + 7(a — 3b)
=(@+ 7)a— 3b)

y? — 2)@ + 6)
tk =5 — (x—=5)=( — 1)x — 5)
k@@ + b) + 1@+ b) = (k + 1)@ + b)

Tlc—a)+pl@a—-c=1c—a —pl—a)
=1 =plc—-a

Q.40. (@—b)+k@a—b)=(1+kf@—->b)

Exercise 21.5

Q1. x+ NHx+2) Q. 8. (x + 1)2 Q. 15. x + 2)2

Q.2. x+ 2)7? Q.9. x+ 15K+ 1) Q.16. (x + 3)?

Q.3. x+ 2)x+5) Q.10. (@ + 4)a + 2) Q. 17. p+ D +7)
Q4. x+5x+1) Q.11. (x + 10)(x + 2) Q.18. (x + 6)(x + 3)
Q.5. x+3)x + 4) Q.12. x+ 7)x + 2) Q.19. x+ 9+ 2)
Q.6. x+ 1)x +4) Q.13. x + 4)x + 5) Q. 20. (x+ 5)2

Q7. x+ Nx+11) Q.14. x+ T)x + 10) Q.21. x+ 3)x+9)
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Q.22. X+ 4)x+7) Q.29. (x + 1)x + 30) Q.36. (x + 9)

Q.23. x+4x+9 Q.30. (x + 6)? Q.37. (x + 4)x + 25)
Q.24. (x+ 3)x+ 11) Q.31. x+6)x+7) Q.38. (x + 6)x + 8)
Q.25. (x +2)x + 6) Q.32. (x + 7)? Q.39. (x + 2)x + 25)
Q.26. (x + 5)x + 6) Q.33. x+ 4)x + 8) Q.40. (x+ 3)x + 17)
Q.27. (x+ 3)x + 10) Q.34. (x +3)x + 8)

Q.28. (x + 2)x + 15) Q.35. (x+ 5K+ 8)

Exercise 21.6

Q1. x-1x-2 Q.15. (x — 15)(x + 1) Q.29. (x—5)Kx+1)
Q.2 (x—-2x-—23) Q. 16. (x—3)x+1) Q.30. (x — 6)x + 5)
Q3. x-3)x-1 Q.17. (x+ 5 — 3) Q.31. (x+ 11X — 2)
Q.4 (xk—-2)x—5) Q.18. xk—4)kx+3) Q.32. (x — 2)?
Q.5. (x—2)x—6) Q.19. (x+3)x —2) Q.33. (x — 3)?
Q. 6. (x—4)x—5) Q.20. (x—3)x+2) Q.34. (x +8)x —3)
Q7. x—13)Kx-=2) Q.21. x+3)kx-—1) Q.35. (x —10)x + 9)
Q.8 (x-3)x—7 Q.22. x+7)x—1) Q.36. (x+ 9K —7)
Q.9. x—-3)x—05) Q.23. (x+5Kx~—2) Q.37. (x—7)x — 8)
Q. 10. (x—1)x—4) Q.24. (x+8K—2) Q.38. (x+ 7)x — 6)
Q. 11. (x—4)x+2) Q.25. (x + 8)x — 4) Q.39. (x+ 10)x — 7)
Q.12. (x — 10)x + 2) Q.26. (x+ 7)x —2) Q.40. (x — 6)x — 4)
Q.13. (x—8)x + 3) Q.27. (x—6)x —5)
Q. 14. (x— 5 + 3) Q.28. (X + 6)x + 5)

Exercise 21.7

Q1. (x—3)x+3) Q.5. (x—5)x+05) Q.9. (14 —a)(14 + a)
Q2. (x—2K+2) Q.6. (x—10)x + 10) Q.10. x— 9K + 9)
Q.3. (y—6)y+6) Q.7. (x—8)x+8) Q. 11. (y—12)y + 12)
Q. 4. (x— 4K+ 4) Q.8. (p—1Np+11) Q. 12. x— T+ 1)
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Q. 13.
Q. 14.
Q. 15.
Q. 16.
Q.17.

(8 —6)(8 + 6) =2(14) = 28

(100 — 99)(100 + 99) = 1(199) = 199
(51 — 49)(51 + 49) = 2(100) = 200
(21 = 20)(21 + 20) = 1(41) = 41

(7.6 — 2.4)(7.6 + 2.4) = (5.2)(10) = 52

Revision Exercises

Q.1.

x — 6)x + 6)

x —9)x + 8)

) xx—y)+ 7k —y) =K+ 7)x—y)
x(p —2q) — 11(p — 2q)
=x—=11p - 29

v y— 7Ny +7)

) alx + 6) + px + 6) = (a + p)x + 6)
i) x+ 9K — 6)
(iii) (y — 3)y + 3)

) 5(y> —9) =5(y — 3)y + 3)

) pr+qr +gs + ps
rp+q +sip+q =@+s)p+q

(i) x —6)x —15)
(i) x(2x — 3y) — (2x — 3y)
= (x — 1)(2x — 3y)
(iii) 3ab(a + 10b)
(iv) 3ab(a + 10b) — (a + 10b)
= (3ab — 1)@ + 10b)
v) &= 7)x +6)

a=7 b=-8
p=-—16 qg==63
—k=-1 —t=-2
k=1 t=2
(@ —8)a + 8)

x2 4+ 8x — 65 = (x — 5)x + 13)
S+ 13)

(i) —2a?bla — 2b)
(i) 13(@ — 2b) — 2a%b(a — 2b)
= (13 — 2a%b)(a — 2b)
(i) (x + 8)x — 4)
(i) (=8 +8)(—8 —4)=(0)(—-12)=0

(i) b@—c—@—c=b-"1a-o0o
(i) x4+ 99x —7)

(30.3 — 29.7)(30.3 + 29.7)
= (0.6)(60)

(i) 7(x* —4)
7x — 2)x + 2)
(i) x = 13)(x + 13)
(ii) x(x — 49)

xx — 7)x + 7)
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